
81-K 2 CCE  RR  

  RR (B) - 5007  

I. 

 8 × 1 = 8 

1. A = { 4,  8,  12,  16,  20,  24 }    B = { 4,  20,  28 } A   B  

 (A) { 4,  8,  12,  16,  20,  24,  28 } 

 (B) { 4,  20 } 

 (C) { 28 } 

 (D) {   } 
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3. A  B H L 

 

 (A) A × H  =  L × B  (B) A × B  =  L × H  

 (C) A + B  =  L + H  (D) A + B  =  L – H 



CCE  RR  3 81-K 

  RR (B) - 5007  [ Turn over 

4. P ( x ) = 61132 23  xxx    

 (A) 2 (B) 6 

 (C) 3 (D) 4 

5.  

 (A) 02 ax  (B) 02  bxax  

 (C) 02  cax  (D) 02  cbxax  

6.  PA   PB    O   

AOB  = 100º  APO   

 

 (A) 50º (B) 80º 

 (C) 90º (D) 40º 

7. tan2  60º + 2 tan2  45º   

 (A) 5 (B) 13   

 (C) 4 (D) 23   



81-K 4 CCE  RR  

8.  ABC B  AB  = 7 BC  = 24 

 AC   

 

 (A) 30   

 (B) 17  

 (C) 25   

 (D) 19  



81-K 2 CCE  RF  

  RF (A) - 1007  

I. 

 8 × 1 = 8 

1. n na
n

324   2  

 (A) 18 (B) 15 

 (C) 0 (D) 2 

2. 2x + 3y – 9 = 0    4x + 6y – 18 = 0  

 (A) (B)  

 (C)  (D)  

3.  

 (A)  (B)  

 (C)  (D)  

4.  49   

 (A) 7   (B) 9   

 (C) 14   (D) 49   

5. 30.   

 (A) x ( x + 2 ) = 30 (B) x ( x – 2 ) = 30 

 (C) x ( x – 3 ) = 30 (D) x ( x + 1 ) = 30 

6. a  b  ( a, b ) ×  ( a, b ) 

 

 (A) a + b  (B) a – b  

 (C) a × b  (D) a  b 



CCE  RF  3 81-K 

7. cos 48º – sin 42º  

 (A) 0 (B) 
4

1
 

 (C) 
2

1
 (D) 1 

8. P ( A ) = 0·05 )( AP   

 (A) 0·59 (B) 0·95 

 (C) 1 (D) 1·05 
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